

324 Wimborne Road • Bournemouth • Dorset • BH9 2HH • UK Telephone: +44 (0)1202 546875 Facsimile: +44 (0)1202 546873 E-mail: info@capitalschool.co.uk Website: www.capitalschool.co.uk

# **ADULT TUITION PRICES 2024**

Prices per Week	No. Of Weeks	Standard Course 20 Lessons	Reg Fee	Total Fees*	Prices per Week	No. Of Weeks	English+ Course 25 Lessons **	Reg Fee	Total Fees*	Prices per Week	No. Of Weeks	Full Immersion Course 40 Lessons	Reg Fee	Total Fees*
£205	1	£205	£100	£305	£260	1	£260	£100	£360	£390	1	£390	£100	£490
£205	2	£410	£100	£510	£260	2	£520	£100	£620	£390	2	£780	£100	£880
£205	3	£615	£100	£715	£260	3	£780	£100	£880	£390	3	£1,170	£100	£1,270
£205	4	£820	£100	£920	<b>£260</b>	4	£1,040	£100	£1,140	£390	4	£1,560	£100	£1,660
£205	5	£1,025	£100	£1,125	<b>£260</b>	5	£1,300	£100	£1,400	£390	5	£1,950	£100	<b>£2,050</b>
£205	6	£1,230	£100	£1,330	<b>£260</b>	6	£1,560	£100	£1,660	£390	6	£2,340	£100	£2,440
£205	7	£1,435	£100	£1,535	<b>£260</b>	7	£1,820	£100	£1,920	£390	7	£2,730	£100	<b>£2,830</b>
£205	8	£1,640	£100	£1,740	£260	8	£2,080	£100	<b>£2,180</b>	£390	8	£3,120	£100	£3,220
£205	9	£1,845	£100	£1,945	<b>£260</b>	9	£2,340	£100	£2,440	£390	9	£3,510	£100	£3,610
£205	10	£2,050	£100	<b>£2,150</b>	£260	10	£2,600	£100	£2,700	£390	10	£3,900	£100	£4,000
£205	11	£2,255	£100	£2,355	<b>£260</b>	11	£2,860	£100	£2,960	£390	11	£4,290	£100	£4,390
£205	12	£2,460	£100	<b>£2,560</b>	£260	12	£3,120	£100	£3,220	£390	12	£4,680	£100	£4,780
£205	13	£2,665	£100	£2,765	£260	13	£3,380	£100	£3,480	£390	13	£5,070	£100	£5,170
£205	14	£2,870	£100	<b>£2,970</b>	<b>£260</b>	14	£3,640	£100	£3,740	£390	14	£5,460	£100	£5,560
£205	15	£3,075	£100	£3,175	<b>£260</b>	15	£3,900	£100	£4,000	£390	15	£5,850	£100	£5,950
£205	<b>16</b>	£3,280	£100	£3,380	<b>£260</b>	16	£4,160	£100	£4,260	£390	16	£6,240	£100	£6,340
£205	17	£3,485	£100	£3,585	<b>£260</b>	17	£4,420	£100	£4,520	£390	17	£6,630	£100	£6,730
£205	18	£3,690	£100	£3,790	£260	18	£4,680	£100	£4,780	£390	18	£7,020	£100	<b>£7,120</b>
£205	19	£3,895	£100	£3,995	£260	19	£4,940	£100	£5,040	£390	19	£7,410	£100	<b>£7,510</b>
£205	20	£4,100	£100	£4,200	<b>£260</b>	20	£5,200	£100	£5,300	£390	20	£7,800	£100	<b>£7,900</b>
£205	21	£4,305	£100	£4,405	£260	21	£5,460	£100	£5,560	£390	21	£8,190	£100	£8,290
£205	22	£4,510	£100	£4,610	<b>£260</b>	22	£5,720	£100	£5,820	£390	22	£8,580	£100	£8,680
£205	23	£4,715	£100	£4,815	£260	23	£5,980	£100	£6,080	£390	23	£8,970	£100	£9,070
£195	24	£4,680	£100	£4,780	£245	24	£5,880	£100	£5,980	£375	24	£9,000	£100	£9,100

Please note that 1 lessson = 45 minutes

\*\* E+ course is 25 Lessons = 19 Hours

\*All prices are calculated in Pounds Sterling and include the loan of course books

Please note that Accommodation Prices are not included. Please see 2024 Accommodation Prices





# **ADULT TUITION PRICES 2024**

Prices per Week	No. Of Weeks	Standard Course 20 Lessons	Reg Fee	Total Fees*	Prices per Week	No. Of Weeks	English+ Course 25 Lessons **	Reg Fee	Total Fees*	Prices per Week	No. Of Weeks	Full Immersion Course 40 Lessons	Reg Fee	Total Fees*
£195	25	£4,875	£100	£4,975	£245	25	£6,125	£100	£6,225	£375	25	£9,375	£100	£9,475
£195	26	£5,070	£100	£5,170	£245	26	£6,370	£100	£6,470	£375	26	£9,750	£100	£9,850
£195	27	£5,265	£100	£5,365	£245	27	£6,615	£100	£6,715	£375	27	£10,125	£100	£10,225
£195	28	£5,460	£100	£5,560	£245	28	£6,860	£100	£6,960	£375	28	£10,500	£100	<b>£10,600</b>
£195	29	£5,655	£100	£5,755	£245	29	£7,105	£100	£7,205	£375	29	£10,875	£100	£10,975
£195	30	£5,850	£100	£5,950	£245	30	£7,350	£100	£7,450	£375	30	£11,250	£100	£11,350
£195	31	£6,045	£100	£6,145	£245	31	£7,595	£100	£7,695	£375	31	£11,625	£100	£11,725
£195	32	£6,240	£100	£6,340	£245	32	£7,840	£100	£7,940	£375	32	£12,000	£100	<b>£12,100</b>
£195	33	£6,435	£100	£6,535	£245	33	£8,085	£100	£8,185	£375	33	£12,375	£100	£12,475
£195	34	£6,630	£100	£6,730	£245	34	£8,330	£100	£8,430	£375	34	£12,750	£100	£12,850
£195	35	£6,825	£100	£6,925	£245	35	£8,575	£100	£8,675	£375	35	£13,125	£100	£13,225
£195	36	£7,020	£100	£7,120	£245	36	£8,820	£100	£8,920	£375	36	£13,500	£100	<b>£13,600</b>
£195	37	£7,215	£100	£7,315	£245	37	£9,065	£100	£9,165	£375	37	£13,875	£100	£13,975
£195	38	£7,410	£100	£7,510	£245	38	£9,310	£100	£9,410	£375	38	£14,250	£100	£14,350
£195	<b>3</b> 9	£7,605	£100	£7,705	£245	39	£9,555	£100	£9,655	£375	39	£14,625	£100	£14,725
£195	40	£7,800	£100	£7,900	£245	40	£9,800	£100	£9,900	£375	40	£15,000	£100	£15,100
£195	41	£7,995	£100	£8,095	£245	41	£10,045	£100	£10,145	£375	41	£15,375	£100	£15,475
£195	42	£8,190	£100	£8,290	£245	42	£10,290	£100	£10,390	£375	42	£15,750	£100	£15,850
£195	43	£8,385	£100	£8,485	£245	43	£10,535	£100	£10,635	£375	43	£16,125	£100	£16,225
£195	44	£8,580	£100	£8,680	£245	44	£10,780	£100	£10,880	£375	44	£16,500	£100	£16,600

Please note that 1 lessson = 45 minutes

\*\* E+ course is 25 Lessons = 19 Hours

\*All prices are calculated in Pounds Sterling and include the loan of course books

Please note that Accommodation Prices are not included. Please see 2024 Accommodation Prices





324 Wimborne Road • Bournemouth • Dorset • BH9 2HH • UK Telephone: +44 (0)1202 546875 Facsimile: +44 (0)1202 546873 E-mail: info@capitalschool.co.uk Website: www.capitalschool.co.uk

## **ADULT SUMMER TUITION PRICES 2024**

Prices apply from 01/07/2024 to 23/08/2024

Prices per Week	No. Of Weeks	Standard Course 20 Lessons	Reg Fee	Total Fees*	Prices per Week	No. Of Weeks	English+ Course 25 Lessons	Reg Fee	Total Fees*	Prices per Week	No. Of Weeks	Full Immersion Course 40 Lessons	Reg Fee	Total Fees*
£260	1	£260	£100	£360	£315	1	£315	£100	£415	£445	1	£445	£100	£545
£260	2	£520	£100	£620	£315	2	£630	£100	£730	£445	2	£890	£100	£990
£260	3	£780	£100	£880	£315	3	£945	£100	£1,045	£445	3	£1,335	£100	£1,435
£260	4	£1,040	£100	£1,140	£315	4	£1,260	£100	£1,360	£445	4	£1,780	£100	£1,880
£260	5	£1,300	£100	£1,400	£315	5	£1,575	£100	£1,675	£445	5	£2,225	£100	£2,325
£260	6	£1,560	£100	£1,660	£315	6	£1,890	£100	£1,990	£445	6	£2,670	£100	£2,770
£260	7	£1,820	£100	£1,920	£315	7	£2,205	£100	£2,305	£445	7	£3,115	£100	£3,215
£260	8	£2,080	£100	£2,180	£315	8	£2,520	£100	£2,620	£445	8	£3,560	£100	£3,660
£260	9	£2,340	£100	£2,440	£315	9	£2,835	£100	£2,935	£445	9	£4,005	£100	£4,105

Please note that 1 lessson = 45 minutes

\*\* E+ course is 25 Lessons = 19 Hours

\*All prices are calculated in Pounds Sterling and include the loan of course books

Please note that Accommodation Prices are not included. Please see 2024 Accommodation Prices

#### **Important Information**

When a student books a course over the summer/between seasons and the booking is 12 weeks or more, low season prices will apply for the tuition prices only. High season prices for accommodation still apply to the summer season as per the school 2024 calendar.

Capital School of English operates an addtional Summer School located at the Bournemouth University (BU). This school will only open if the student numbers are sufficient. Adult summer students may be classed at our Summer School during the high season 1st July 2024 to 23rd August 2024. The school reserves the right to change the adult Summer School according to the needs of Capital School of English. Please refer to the 2024 welcome letter which has detailed information.





# Information 2024 INDIVIDUAL LESSONS 1-1 or 2-1

## Face to Face

### Available Monday-Friday, 9am- 5pm (GMT)

Duration	One student	Two students		
	to	to		
	One teacher	One teacher		
60 minutes	£60	£80 total		
		(£40 per student)		

All Prices are in Pound Sterling (£GBP).

## Online

### Available ONLINE Monday-Saturday, 9am- 5pm (GMT)

Duration	One student	Two students
	to	to
	One teacher	One teacher
45 minutes	£45	£30 total
		(£15 per student)

All Prices are in Pound Sterling (£GBP).











# Accommodation 2024

# **Homestay Accommodation**

## Accommodation Arrangement fee: £75

(only payable if you book accommodation arranged by the school)

Room	SUN	IMER SEA	SON	LC	OW SEASC	<b>N</b>	
Туре		30/06/2024 to 24/08/2024		01/01/2024 to 29/06/2024 & 25/08/2024 to 28/12/2024			
	Price per week (£ GBP)	Extra night	Holiday Retainer Fee per week	Price per week (£ GBP)	Extra night	Holiday Retainer Fee per week	
Single Room	£250	not available	not available	£190	£30	£100	
Single with Ensuite	£285	not available	not available	£235	£35	£120	
Twin/ Double Room	<b>£215</b> per person/ per week	not available	not available	<b>£155</b> per person/ per week	£25 per person/ per week	£80 per person/ per week	

All Prices are in Pound Sterling (£GBP) and include a room of your choice as above, meals (half-board during the week and full-board at the weekends only), WIFI and weekly laundry.

#### Additional fees

Special	£50	Will be charged for Special Diet requests such as Vegetarian, Vegan,
Dietary	per	Pescatarian, Celiac, Gluten Free, Nuts, Lactose Intolerance and Diabetes.
Requirement	week of	(excludes Halal meat, the host families will provide a pork free diet instead)
	stay	
Christmas	£125	If students wish to stay with their homestay over Christmas week (December 20th to January
Supplement	for the	4th) they must pay a Christmas Supplement for the week per person. This will included full
	2 weeks	board for the 2 weeks

#### HOMESTAY NOTES:

- All bedrooms are private rooms and not shared with another person or student, unless requested by the student. Twin rooms can only be shared with a friend or relative.
- **Ensuite rooms** have a private bathroom either attached or separate to the bedroom. Ensuite rooms are limited and are subject to availability. Students should request/book an ensuite room as early as possible.
- Extra night: If students need to stay for any additional nights, if there is availability Capital School of English may be able to organise this. Students will need to pay for these additional nights. Homestays may not be able to provide extra nights in the summers season unless a full weeks payment is paid.
- Holiday Retainer Fee: If students take a 'holiday' during their course and want to keep their room with the homestay or keep their belongings in the homestay they may still need to pay the Holiday Retainer Fee per week.
- Capital School of English can change accommodation arrangements and fees/rates at any time and without notice.
- Long term student payment plan: Payment must be received in full a minimum of 4 weeks before the start of the student's course. If students are enrolled for 24 weeks or more, they may pay for their accommodation every 4 weeks. A late fee of £25.00 will be charged if the balance is not paid by or on the agreed date.





# Accommodation 2024

# **Summer Residential Accommodation**

(for students aged 18+)

# Accommodation Arrangement fee: £75

(only payable if you book accommodation arranged by the school)

	Single	Available from	£285
₽	Room with Ensuite	June, Sunday 30 <sup>th</sup>	per week
		to August, Sunday 25 <sup>th</sup>	Sunday to Sunday

### TOTAL PRICE = £285 x number of weeks + Accommodation Arrangement fee

Number of weeks	1	2	3	4	5	6	7	8
TOTAL PRICE	£360	£645	£930	£1215	£1500	£1785	£2070	£2355

All Prices are in Pound Sterling (£GBP). The price includes:

- All bills (electricity, gas and water)
- o WIFI
- Bedding, pillows and bed linen (sheets, pillowcase and duvet cover)
- o Towels
- o Cutlery
- o Kettle
- o Toaster
- o Microwave
- Pots and pans
- o Basic cooking utensils
- o Tea towels
- Weekly cleaning service

The price does **not** include meals or laundry (washing your clothes).

**RESIDENCE NOTES:** 

- Capital School of English only provides accommodation while you are studying on a course at Capital School of English.
- Students should request/book residential accommodation as early as possible. It is subject to availability, and can be busy.
- Accommodation must be paid in full and in advance for the duration of the stay to guarantee accommodation.
- Students staying in our Town Centre Residence may need a bus pass to travel to the school.

member











# Information 2024 TRANSFERS BY PRIVATE TAXI

### **Airport Transfer Prices**

Airport	One way	Return
Bournemouth	£75	£150
Heathrow	£200	£400
Gatwick	£245	£490
Stansted	£330	£660
Southampton	£120	£240
Luton	£285	£570
Bristol	£200	£400
London City	£350	£700

All Prices are in Pound Sterling (£GBP).

Note: Arrivals from the Middle East must pay a supplement of £30.

### **Ferry Transfer Prices**

Port	One way	Return		
Poole	£75	£150		
Portsmouth	£160	£320		

All Prices and Fees are in British Pounds Sterling (£GBP).

### Additional fees

WAITING TIME	£35 per hour	The driver will meet the student 1 hour after their expected arrival time. If they are ready before, they must wait. If students arrive after their expected arrival time, they will be charged per hour the taxi has to wait for them.
OUT OF HOURS CHARGE	£60	If students arrive between 00:00 and 06:30, this supplement will be charged in addition to the fees above.
EXTRA PERSON	£25 per person	£25 per person is charged for each additional person in addition to the fees above.
HANDOVER FEE	£50 per person	Students aged 12-15 travelling unaccompanied must book return airport transfers. This fee covers the driver checking-in the student on departure. This is a legal requirement to safeguard the student.
CANCELLATION FEE	50%	If a student cancels their transfer less than 8 hours before their arrival time, they must pay 50% of the transfer fee.
NO SHOW	100%	If a student does not arrive in the UK and does not inform Capital School of English, they must pay 100% of the transfer fee.

All Prices are in Pound Sterling (£GBP).







